
Algebra 2 







Name: _________________________
Unit 7, Day 8 







Date: ______________ Period: _____
Complex Zeros, Turning Points, & Graphing Polynomial Functions
Complex zeros always come in __________________ pairs.  

( A cubic polynomial could have _____ or _____ complex zeros, and _____, _____, or _____ real zeros.

	

	
	

	_____ real & ____ non–real
	_____ real & ____ non–real
	_____ real & ____ non–real


( A fourth degree polynomial could have _____, _____, or _____ complex zeros, and _____, _____, _____, _____, or ______ real zeros.

	

	
	
	
	

	_____ real & 

____ non–real
	_____ real & 

____ non–real
	_____ real & 

____ non–real
	_____ real & 

____ non–real
	_____ real & 

____ non–real


 Remember when there is a complex zero there is always a ________________________________.

Turning Points to Degree
_____________________ – points where the graph changes ____________ from increasing to decreasing or decreasing to increasing.  

An _____________ polynomial function has at most ________ turning points.  Using the same principle, a polynomial that has ____ turning points has a degree of _______ or greater.

	2.  For each graph,  a)  describe the end behavior and describe the leading coefficient (+ / –)

b)  determine whether it represents an odd-degree or an even-degree polynomial function, and guess its value.

c)  state the number of real zeros. 

d) state the number of non–real zeros.

	a)  


	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:
	b)  
	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:

	c)


	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:
	d)  
	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:

	e)


	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:
	f)
	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:

	g)


	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:
	h)
	End behavior: 

Leading coefficient: 

Degree: 

Real zeros:

Non–real zeros:


Practice:  Determine the degree and zeros.  Sketch a graph of the polynomial function.  
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Degree: ___

Zeros: ____________


	2)  
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Degree: ___

Zeros: ____________
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Degree: ___

Zeros: ____________


	4)  
[image: image4.wmf]3

2

)

(

2

4

-

-

=

x

x

x

P


Degree: ___

Zeros: ____________




Mixed Practice

	1.  Determine the function that generates each graph below.

	a)  
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	b)

  [image: image6.emf]       


















	c)  
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	d)   
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	2.  Find a standard (expanded) form equation of a polynomial with the given zeros. 

	a)  cubic polynomial with zeros x = 6 and ±2i.


	b)  quartic polynomial with zeros x = ±
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	3.  Simplify.  Write answers in 
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	a)  
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	4.  Evaluate.

	a)  
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	b)  
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	5.  Factor completely across the rationals.

	a)  
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	6.  Simplify each expression.

	a)  
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	7.  Solve for x.  

	a)  
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